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7KXUVGD\��0D\����±�7ULSOH�-XGJHG��
$UHQD���±������DP��

���������������6PDOO�)U\�7UDLO�	�16%$�
���������������/��$PDWHXU�:�7�7UDLO�	�16%$��
���������������/��<RXWK�:�7�7UDLO�	�16%$��
���������������$4+$�16%$�(:'�:�-�7UDLO��±�,QGHSHQGHQW�5LGHU��
���������������*UHHQ�/HYHO���7UDLO�	�16%$�
�������������-XQLRU�7UDLO�	�16%$��/HYHO���	���FRQFXUUHQW��
����������������1RYLFH�/HYHO���$PDWHXU�7UDLO�	�16%$
����������������1RYLFH�/HYHO���<RXWK�7UDLO�	�16%$�
����������������$PDWHXU�7UDLO�	�16%$�
����������������6HOHFW�7UDLO�	�16%$�
����������������<RXWK�7UDLO�	�16%$�

�������������6HQLRU�7UDLO�	�16%$��/HYHO���	���FRQFXUUHQW��
����������������$4+$�16%$�(:'�7UDLO�±�6XSSRUWHG�5LGHU�:�-�
����������������*UHHQ�/HYHO���:HVWHUQ�5LGLQJ�	�16%$
����������������-U�:HVWHUQ�5LGLQJ�	�16%$��
����������������/HYHO���1RY��$P��:��5LGLQJ�	�16%$�
����������������$PDWHXU�:��5LGLQJ�	�16%$�
����������������6HOHFW�:HVWHUQ�5LGLQJ�	�16%$�
����������������/HYHO���1RY��<RXWK�:��5LGLQJ�	�16%$
���������������<RXWK�:HVWHUQ�5LGLQJ�	�16%$�
���������������6U�:HVWHUQ�5LGLQJ�	�16%$

$UHQD���±������DP�
�����������*UHHQ�:RUNLQJ�+XQWHU�	�16%$�
�����������3URJUHVVLYH�:RUNLQJ�+XQWHU�	�16%$
�����������:RUNLQJ�+XQWHU�$OO�$JHV�	�16%$�
�����������1RYLFH�$P��:RUNLQJ�+XQWHU�	�16%$�
����������1RY��$P��(TXLW��2YHU�)HQFHV�	�16%$
���������1RYLFH�<$�:RUNLQJ�+XQWHU�	�16%$�
���������1RY��<$�(TXLW�2YHU�)HQFHV�	�16%$��
���������6HOHFW�:RUNLQJ�+XQWHU�	�16%$��
���������6HOHFW�(TXLW��2YHU�)HQFHV�	�16%$�
���������$PDWHXU�:RUNLQJ�+XQWHU�	�16%$�
���������$P��(TXLWDWLRQ�2YHU�)HQFHV�	�16%$�
���������<RXWK�:RUNLQJ�+XQWHU�	�16%$�
���������<$�(TXLWDWLRQ�2YHU�)HQFHV�	�16%$�
���������$PDWHXU�-XPSLQJ�	�16%$�
���������<RXWK�-XPSLQJ�	�16%$�
���������-XPSLQJ�	�16%$�

���������-U +XQWHU�+DFN�	�16%$�
���������1RYLFH�$P��+XQWHU�+DFN�	�16%$��
���������1RYLFH�<RXWK�+XQWHU�+DFN�	�16%$��
���������6HOHFW�+XQWHU�+DFN�	�16%$�
���������$PDWHXU�+XQWHU�+DFN�	�16%$�
���������<RXWK�+XQWHU�+DFN�	�16%$�
���������6U�+XQWHU�+DFN�	�16%$�
���������1RYLFH�$P�/HYHO���5DQFK�5LGLQJ�	�16%$�
���������$P��5DQFK�5LGLQJ�	�16%$�
���������1RYLFH�<RXWK�/HYHO���5DQFK�5LGLQJ�	�16%$�
���������<RXWK�5DQFK�5LGLQJ�	�16%$�
���������5DQFK�5LGLQJ�	�16%$�
������������$PDWHXU�5HLQLQJ�
������������<RXWK�5HLQLQJ�
������������5HLQLQJ

)ULGD\��0D\�����������DP���7ULSOH�-XGJHG�
���������������*UHHQ�/HYHO���+XQWHU�8QGHU�6DGGOH�	�16%$�
���������������$4+$�16%$�(:'�:�7�+86�±�,QG��5LGHU�
���������������$4+$�16%$�(:'�:�7�(TXLWDWLRQ���,QG��5LGHU�
���������������/HYHO���1RY��$P�+��8QGHU�6DGGOH�	�16%$�
���������������$P��+XQWHU�8QGHU�6DGGOH�	�16%$�
���������������6HOHFW�+XQWHU�8QGHU�6DGGOH�	�16%$�
���������������-U�+XQWHU�8QGHU�6DGGOH�	�16%$�
���������������1RYLFH�/HYHO���<$�+��8QGHU�6DGGOH�	�16%$�
��������������<$�+XQWHU�8QGHU�6DGGOH�	�16%$�
��������������6U�+XQWHU�8QGHU�6DGGOH�	�16%$�
���������������6PDOO�)U\�+XQWHU�8QGHU�6DGGOH�	�16%$
���������������6PDOO�)U\�(TXLWDWLRQ�	�16%$�

���������������/��$PDWHXU�:�7�+86�	�16%$���
���������������/��$PDWHXU�:�7�(TXLWDWLRQ�	�16%$��
���������������/��<RXWK�:�7�+86�	�16%$��
���������������/��<RXWK�:�7�(TXLWDWLRQ�	�16%$��
��������������(:'�+86�:�7��6XSSRUWHG�5LGHU�	�16%$�
��������������(:'�(TXLWDWLRQ�:�7�6XSSRUWHG�5LGHU�	�16%$�
6ROLG�*ROG�)XWXULW\�0DLGHQ�+RUVH�2SHQ�+XQWHU�8QGHU�6DGGOH�
��������������/HYHO���1RY��$P��(TXLWDWLRQ�	�16%$�

��������������$PDWHXU�(TXLWDWLRQ�	�16%$�
��������������6HOHFW�+XQW�6HDW�(TXLWDWLRQ�	�16%$�
��������������1RYLFH�/HYHO���<RXWK�(TXLWDWLRQ�	�16%$�
��������������<RXWK�+XQW�6HDW�(TXLWDWLRQ�	�16%$�



��������������$4+$�16%$�(:'�:�-�:3�±�,QGHSHQGHQW�5LGHUV���
��������������$4+$�16%$�(:'�:�-�+RUVHPDQVKLS�±�,QG�5LGHU�
6ROLG�*ROG�)XWXULW\�±�0DLGHQ�+RUVH���	�RYHU�:3�±�2SHQ�,QW�
5LGHU�
��������������6PDOO�)U\�3OHDVXUH�	�16%$�
��������������6PDOO�)U\�+RUVHPDQVKLS�	�16%$�
��������������/��$PDWHXU�:�7�3OHDVXUH�	�16%$���
��������������/��$PDWHXU�:�7�+RUVHPDQVKLS�	�16%$��
��������������/��<RXWK�:�7�3OHDVXUH�	�16%$���
��������������/��<RXWK�:�7�+RUVHPDQVKLS�	�16%$��
��������������*UHHQ�/HYHO���:HVWHUQ�3OHDVXUH�	�16%$
��������������$4+$�16%$�(:'�:3�±�6XSSRUWHG�5LGHU�±�:�-�
��������������$4+$�16%$�(:'�+RUVH��±�6XS��5LGHU�±�:�-�
��������������1RYLFH�1RY��$P��:HVWHUQ�3OHDVXUH�	�16%$�
��������������$PDWHXU�:HVWHUQ�3OHDVXUH�	�16%$�

��������������6HOHFW�:HVWHUQ�3OHDVXUH�	�16%$�
��������������-U�:HVWHUQ�3OHDVXUH�	�16%$��
��������������1RYLFH�/HYHO���<RXWK�:HVWHUQ�3OHDVXUH�	�16%$�
��������������<RXWK�:HVWHUQ�3OHDVXUH�	�16%$�
��������������6U�:��3OHDVXUH�	�16%$��
6ROLG�*ROG�)XWXULW\�0DLGHQ�+RUVH���	�RYHU�1RQ�3UR�:HVWHUQ�
3OHDVXUH
��������������/HYHO���1RY��$P��+RUVHPDQVKLS�	�16%$�
��������������$PDWHXU�+RUVHPDQVKLS�	�16%$�
��������������6HOHFW�+RUVHPDQVKLS�	�16%$�
��������������1RYLFH�/HYHO���<RXWK�+RUVHPDQVKLS�	�16%$�
��������������<RXWK�+RUVHPDQVKLS�	�16%$�

$UHQD���±�������DP��
���������1RYLFH�$P�/HYHO���5DQFK�5LGLQJ�	�16%$�
���������$P��5DQFK�5LGLQJ�	�16%$�
���������1RYLFH�<RXWK�/HYHO���5DQFK�5LGLQJ�	�16%$�
���������<RXWK�5DQFK�5LGLQJ�	�16%$�
���������5DQFK�5LGLQJ�	�16%$�
������������$PDWHXU�5HLQLQJ�
������������<RXWK�5HLQLQJ�
������������5HLQLQJ���

9HUVDWLOLW\�5DQFK�+RUVH�±���MXGJHV�
�������5DQFK�+RUVH�7UDLO�
�������5DQFK�+RUVH�5LGLQJ��
�������5DQFK�+RUVH�5HLQLQJ�
�������5DQFK�+RUVH�&RQIRUPDWLRQ�

)ULGD\�(YHQLQJ�

6DWXUGD\��0D\�����������DP���7ULSOH�-XGJHG�
���������������$PDWHXU�3OHDVXUH�'ULYLQJ�
���������������2SHQ�3OHDVXUH�'ULYLQJ�

5LJKW�6LGH���)ROORZLQJ�'ULYLQJ�����MXGJHV�
������������/HYHO���1RY��$P��6KRZPDQVKLS�	�16%$�
������������$PDWHXU�6KRZPDQVKLS�	�16%$�
������������6HOHFW�6KRZPDQVKLS�	�16%$�
������������6PDOO�)U\�6KRZPDQVKLS�	�16%$�
������������/HYHO���1RY��<RXWK�6KRZPDQVKLS�16%$�
������������<RXWK�6KRZPDQVKLS�	�16%$�
������������$4+$�16%$�(:'�6KRZPDQVKLS�

/HIW�6LGH���)ROORZLQJ�'ULYLQJ�����MXGJHV�
������������/HYHO���1RY��$P��6KRZPDQVKLS�	�16%$�
������������$PDWHXU�6KRZPDQVKLS�	�16%$�
������������6HOHFW�6KRZPDQVKLS�	�16%$�
������������6PDOO�)U\�6KRZPDQVKLS�	�16%$�
������������/HYHO���1RY��<RXWK�6KRZPDQVKLS�16%$�
������������<RXWK�6KRZPDQVKLS�	�16%$�
������������$4+$�16%$�(:'�6KRZPDQVKLS�

)ROORZLQJ�6KRZPDQVKLS���+DOWHU�WR���MXGJHV�
�������������$P��3HUIRUPDQFH�+DOWHU�*HOGLQJV�
�������������<RXWK�3HUIRUPDQFH�+DOWHU�*HOGLQJV�
�������������3HUIRUPDQFH�+DOWHU�*HOGLQJV�
�������������$P��3HUIRUPDQFH�+DOWHU�0DUHV�
�������������<RXWK�3HUIRUPDQFH�+DOWHU�0DUHV�
�������������3HUIRUPDQFH�+DOWHU�0DUHV�
�������������$P��3HUIRUPDQFH�+DOWHU�6WDOOLRQV�
�������������3HUIRUPDQFH�+DOWHU�6WDOOLRQV�

�������������<HDUOLQJ�*HOGLQJV�
6ROLG�*ROG�)XWXULW\�0DLGHQ�<HDUOLQJ�+DOWHU�*HOGLQJV
���������������\HDU�ROG�*HOGLQJV�
���������������\HDU�ROG�*HOGLQJV�
�������������$JHG�*HOGLQJV�
����������*UDQG�	�5HVHUYH�*HOGLQJV�
���������������$PDWHXU�<HDUOLQJ�*HOGLQJV�
���������������$PDWHXU���\HDU�ROG�*HOGLQJV�

���������������$PDWHXU���\HDU�ROG�*HOGLQJV�
���������������$PDWHXU�$JHG�*HOGLQJV��
����������*UDQG�	�5HVHUYH�$P��*HOGLQJV�
�������������<RXWK�<HDUOLQJ�*HOGLQJV�
�������������<RXWK���\HDU�ROG�*HOGLQJV�
�������������<RXWK���\HDU�ROG�*HOGLQJV�
�������������<RXWK�$JHG�*HOGLQJV��
����������*U�	�5HVHUYH�<RXWK�*HOGLQJV�
�������������<HDUOLQJ�)LOOLHV��
6ROLG�*ROG�)XWXULW\�0DLGHQ�<HDUOLQJ�+DOWHU�)LOOLHV�
���������������\HDU�ROG�0DUHV�
���������������\HDU�ROG�0DUHV��
�������������$JHG�0DUHV�
����������*UDQG�	�5HVHUYH�0DUHV�
�������������$PDWHXU�<HDUOLQJ�0DUHV�
�������������$PDWHXU���\HDU�ROG�0DUHV�
�������������$PDWHXU���\HDU�ROG�0DUHV�



�������������$PDWHXU�$JHG�0DUHV�
����������*U�	�5HVHUYH�$PDWHXU�0DUHV�
�������������<RXWK�<HDUOLQJ�0DUHV�
�������������<RXWK���\HDU�ROG�0DUHV�
�������������<RXWK���\HDU�ROG�0DUHV�
�������������<RXWK�$JHG�0DUHV�
����������*UDQG�	�5HVHUYH�<RXWK�0DUHV�
�������������<HDUOLQJ�6WDOOLRQV�
6ROLG�*ROG�)XWXULW\�0DLGHQ�<HDUOLQJ�+DOWHU�6WDOOLRQV�
���������������\HDU�ROG�6WDOOLRQV�

���������������\HDU�ROG�6WDOOLRQV��
�������������$JHG�6WDOOLRQV��
����������*UDQG�	�5HVHUYH�6WDOOLRQV�
�������������$PDWHXU�<HDUOLQJ�6WDOOLRQV�
�������������$PDWHXU���\HDU�ROG�6WDOOLRQV�
�������������$PDWHXU���\HDU�ROG�6WDOOLRQV�
�������������$PDWHXU�$JHG�6WDOOLRQV�
����������*UDQG�	�5HVHUYH�$P��6WDOOLRQV�

/($'�/,1(�±���	�XQGHU�±�HQWHU�DW�JDWH��

)ROORZLQJ�$//�+DOWHU�±��
$UHQD���

�����������*UHHQ�:RUNLQJ�+XQWHU�	�16%$�
�����������3URJUHVVLYH�:RUNLQJ�+XQWHU�	�16%$
�����������:RUNLQJ�+XQWHU�$OO�$JHV�	�16%$�
�����������1RYLFH�$P��:RUNLQJ�+XQWHU�	�16%$�
����������1RY��$P��(TXLW��2YHU�)HQFHV�	�16%$
���������1RYLFH�<$�:RUNLQJ�+XQWHU�	�16%$�
���������1RY��<$�(TXLW�2YHU�)HQFHV�	�16%$��
���������6HOHFW�:RUNLQJ�+XQWHU�	�16%$��
���������6HOHFW�(TXLW��2YHU�)HQFHV�	�16%$�
���������$PDWHXU�:RUNLQJ�+XQWHU�	�16%$�
���������$P��(TXLWDWLRQ�2YHU�)HQFHV�	�16%$�
���������<RXWK�:RUNLQJ�+XQWHU�	�16%$�
���������<$�(TXLWDWLRQ�2YHU�)HQFHV�	�16%$�
���������$PDWHXU�-XPSLQJ�	�16%$�
���������<RXWK�-XPSLQJ�	�16%$�
���������-XPSLQJ�	�16%$�

���������-U +XQWHU�+DFN�	�16%$�
���������1RYLFH�$P��+XQWHU�+DFN�	�16%$��
���������1RYLFH�<RXWK�+XQWHU�+DFN�	�16%$��
���������6HOHFW�+XQWHU�+DFN�	�16%$�
���������$PDWHXU�+XQWHU�+DFN�	�16%$�
���������<RXWK�+XQWHU�+DFN�	�16%$�
���������6U�+XQWHU�+DFN�	�16%$�
����������������*UHHQ�/HYHO���:HVWHUQ�5LGLQJ�	�16%$
����������������-U�:HVWHUQ�5LGLQJ�	�16%$��
����������������/HYHO���1RY��$P��:��5LGLQJ�	�16%$�
����������������$PDWHXU�:��5LGLQJ�	�16%$�
����������������6HOHFW�:HVWHUQ�5LGLQJ�	�16%$�
����������������/HYHO���1RY��<RXWK�:��5LGLQJ�	�16%$
���������������<RXWK�:HVWHUQ�5LGLQJ�	�16%$�
���������������6U�:HVWHUQ�5LGLQJ�	�16%$�

$UHQD���±�IROORZLQJ�3HUIRUPDQFH�KDOWHU��
���������������6PDOO�)U\�7UDLO�	�16%$�
���������������/��$PDWHXU�:�7�7UDLO�	�16%$��
���������������/��<RXWK�:�7�7UDLO�	�16%$��
���������������$4+$�16%$�(:'�:�-�7UDLO��±�,QGHSHQGHQW�5LGHU��
���������������*UHHQ�/HYHO���7UDLO�	�16%$�
�������������-XQLRU�7UDLO�	�16%$��/HYHO���	���FRQFXUUHQW��
����������������1RYLFH�/HYHO���$PDWHXU�7UDLO�	�16%$

����������������1RYLFH�/HYHO���<RXWK�7UDLO�	�16%$�
����������������$PDWHXU�7UDLO�	�16%$�
����������������6HOHFW�7UDLO�	�16%$�
����������������<RXWK�7UDLO�	�16%$�
�������������6HQLRU�7UDLO�	�16%$��/HYHO���	���FRQFXUUHQW��
����������������$4+$�16%$�(:'�7UDLO�±�6XSSRUWHG�5LGHU�:�-�

6XQGD\��0D\�����������DP���7ULSOH�-XGJHG�
���������������$PDWHXU�3OHDVXUH�'ULYLQJ�
���������������2SHQ�3OHDVXUH�'ULYLQJ�
6ROLG�*ROG�)XWXULW\�0DLGHQ�+RUVH���	�RYHU�1RQ�3UR�+86�
���������������*UHHQ�/HYHO���+XQWHU�8QGHU�6DGGOH�	�16%$�
���������������/��$PDWHXU�:�7�+86�	�16%$���
���������������/��$PDWHXU�:�7�(TXLWDWLRQ�	�16%$��
���������������/��<RXWK�:�7�+86�	�16%$��
���������������/��<RXWK�:�7�(TXLWDWLRQ�	�16%$��
���������������6PDOO�)U\�+XQWHU�8QGHU�6DGGOH�	�16%$
���������������6PDOO�)U\�(TXLWDWLRQ�	�16%$�
���������������$4+$�16%$�(:'�:�7�+86�±�,QG��5LGHU�
���������������$4+$�16%$�(:'�:�7�(TXLWDWLRQ���,QG��5LGHU�
���������������/HYHO���1RY��$P�+��8QGHU�6DGGOH�	�16%$�
���������������$P��+XQWHU�8QGHU�6DGGOH�	�16%$�
���������������6HOHFW�+XQWHU�8QGHU�6DGGOH�	�16%$�
���������������-U�+XQWHU�8QGHU�6DGGOH�	�16%$�
���������������1RYLFH�/HYHO���<$�+��8QGHU�6DGGOH�	�16%$�
��������������<$�+XQWHU�8QGHU�6DGGOH�	�16%$�
��������������6U�+XQWHU�8QGHU�6DGGOH�	�16%$�
��������������(:'�+86�:�7��6XSSRUWHG�5LGHU�	�16%$�
��������������(:'�(TXLWDWLRQ�:�7�6XSSRUWHG�5LGHU�	�16%$�

��������������/HYHO���1RY��$P��(TXLWDWLRQ�	�16%$�
��������������$PDWHXU�(TXLWDWLRQ�	�16%$�
��������������6HOHFW�+XQW�6HDW�(TXLWDWLRQ�	�16%$�
��������������1RYLFH�/HYHO���<RXWK�(TXLWDWLRQ�	�16%$�
��������������<RXWK�+XQW�6HDW�(TXLWDWLRQ�	�16%$�
��������������$4+$�16%$�(:'�:�-�:3�±�,QGHSHQGHQW�5LGHUV���
��������������$4+$�16%$�(:'�:�-�+RUVHPDQVKLS�±�,QG�5LGHU�
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ORSLQJ�FDQWHULQJ�FODVV�DW�WKDW�VKRZ��+RZHYHU��WKDW�FRPELQDWLRQ�FDQ�VZLWFK�EDFN�DQG�IRUWK�EHWZHHQ�WKH�GLIIHUHQW�VKRZV��
&LUFXLW�DZDUGV���RIIHUHG�LQ�HDFK�FODVV��-XVWLQ�%RRWV�±�WR�HDFK�FLUFXLW�DZDUG�ZLQQHU��0867�VKRZ�WR�DOO�DSSOLFDEOH�MXGJHV���
+LJK�3RLQW�$ZDUGV���2SHQ��$PDWHXU��6HOHFW��1RYLFH�/HYHO���<RXWK�	�$PDWHXU��<RXWK��6PDOO�)U\��/��$PDWHXU�	�<RXWK�:DON�-RJ���
$QG�(:'�6XSSRUWHG�	�,QGHSHQGHQW�5LGHU��0XVW�VKRZ�LQ�\RXU�UHVSHFWLYH�KDOWHU�FODVV�WR�TXDOLI\���6PDOO�)U\�	�:DON�-RJ�H[FOXGHG���

62/,'�*2/'�)8785,7<�±�VHH�ZZZ�6ROLG*ROG)XWXULW\�FRP�IRU�FRPSOHWH�UXOHV�	�IHHV��
+RVW�+RWHOV�

-XGJHV���
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